
Question 3 [6+2+2+2+2 = 14 marks]

Consider the large square on the right, which contains shapes

of four di↵erent sizes.

(a) (i) Without measuring, explain what fraction of the

large square is represented by the smallest shape

labelled A.

(ii) Label the next smallest shape with B.

What fraction of the large square is represented

by B? Explain your reasoning.

(ii) Label the next smallest shape with C. What fraction of the large square is

represented by C? Explain your reasoning.

(iii) Label the remaining shape with D. What fraction of the large square is

represented by D? Explain your reasoning.

(b) Shade exactly half of the large square. (Show this in your assignment.)

Explain how you know that this is exactly one half.

(c) There are twelve di↵erent fractions that can be represented using two or more of

the smaller shapes. Explain how to find four of the fractions by making reference

to A, B, C and D.

(d) If the entire area of the large square is 12 units2, what is the area of D?

(e) If the area of C is 4 units2, what is the area of the large square?

Question 4 [7 marks]

The unusual-looking fraction below is called a continued fraction:

1

1 +
1

1 +
2

3

It can be simplified into an ordinary fraction by working it out from the bottom upwards

(leave all answers as improper fractions):

(a) Work out 1 +
2

3
.

(b) Now divide your answer from part (a) into 1.

(c) Now add your answer from part (b) to 1.

(d) Explain, in words, what you need to do to finish working out this continued

fraction.

(e) Finish working out the fraction and give your answer in the simplest form.
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